

An extension of Seller's theorem on partitions and its application

Yidong Sun*

Department of Applied Mathematics, Dalian University of Technology
Dalian 116024, P.R.China

September 9, 2005

Abstract: Let $\mathcal{K} = (K_{ij})$ be an infinite lower triangular matrix of non-negative integers such that $K_{i0} = 1$ and $K_{ii} \geq 1$ for $i \geq 0$. Define a sequence $\{V_m(\mathcal{K})\}_{m \geq 0}$ by the recurrence $V_{m+1}(\mathcal{K}) = \sum_{j=0}^m K_{mj} V_j(\mathcal{K})$ with $V_0(\mathcal{K}) = 1$. Let $P(n; \mathcal{K})$ be the number of partitions of n of the form $n = p_1 + p_2 + p_3 + p_4 + \dots$ such that $p_j \geq \sum_{i \geq j} K_{ij} p_{i+1}$ for $j \geq 1$ and let $P(n; V(\mathcal{K}))$ denote the number of partitions of n into summands in the set $V(\mathcal{K}) = \{V_1(\mathcal{K}), V_2(\mathcal{K}), \dots\}$. Based on the technique of MacMahon's partitions analysis, we prove that $P(n; \mathcal{K}) = P(n; V(\mathcal{K}))$ which generalizes a recent result of Sellers'. We also give several applications of this result to many classical sequences such as Bell numbers, Fibonacci numbers, Lucas numbers and Pell numbers.

1. Introduction

A *partition* of n is of the form $n = p_1 + p_2 + p_3 + p_4 + \dots$ with $p_1 \geq p_2 \geq p_3 \geq p_4 \geq \dots \geq 0$. There are many interesting partition identities in the theory of partitions [3]. The most celebrated Euler's identity states as follows:

Theorem 1.1 *Let $o(n)$ be the number of partitions of n into odd parts and $d(n)$ be the number of partitions of n into distinct parts. Then, for all $n \geq 0$, $o(n) = d(n)$.*

Recently, Santos [14] proved bijectively that $o(n)$ also equals the number of partitions of n of the form $p_1 + p_2 + p_3 + p_4 + \dots$ such that $p_1 \geq p_2 \geq p_3 \geq p_4 \geq \dots \geq 0$ and $p_1 \geq 2p_2 + p_3 + p_4 + \dots$. Later, by the technique

* E-mail: sydmath@yahoo.com.cn

of MacMahon's partitions analysis [13], Sellers [15, 16] obtained a more general result, namely,

Theorem 1.2 *Let $A = (a_2, a_3, a_4, \dots)$ be an infinite vector of nonnegative integers with $a_2 \geq 1$. Define $p(n; A)$ as the number of partitions of n of the form $p_1 + p_2 + p_3 + p_4 + \dots$ with $p_1 \geq p_2 \geq p_3 \geq p_4 \dots \geq 0$ and $p_1 \geq a_2 p_2 + a_3 p_3 + a_4 p_4 + \dots$. Then, for all $n \geq 0$, $p(n; A)$ equals the number of partitions of n whose parts must be 1's or of the form $(\sum_{i=2}^m a_i) + (m-1)$ for some integer $m \geq 2$.*

More recently, a refinement of Sellers' result has been obtained by [11]. Our main theorem reads as follows:

Theorem 1.3 *Let $\mathcal{K} = (K_{ij})$ be an infinite lower triangular matrix of nonnegative integers such that $K_{i0} = 1$ and $K_{ii} \geq 1$ for $i \geq 0$. Define a sequence $\{V_m(\mathcal{K})\}_{m \geq 0}$ by the recurrence $V_{m+1}(\mathcal{K}) = \sum_{j=0}^m K_{mj} V_j(\mathcal{K})$ with $V_0(\mathcal{K}) = 1$. Let $P(n; \mathcal{K})$ be the number of partitions of n of the form $n = p_1 + p_2 + p_3 + p_4 + \dots$ such that $p_j \geq \sum_{i \geq j} K_{ij} p_{i+1}$ for $j \geq 1$ and let $P(n; V(\mathcal{K}))$ denote the number of partitions of n into summands in the set $V(\mathcal{K}) = \{V_1(\mathcal{K}), V_2(\mathcal{K}), \dots\}$. Then*

$$\sum_{n \geq 0} P(n; \mathcal{K}) q^n = \prod_{m \geq 1} \frac{1}{1 - q^{V_m(\mathcal{K})}} = \sum_{n \geq 0} P(n; V(\mathcal{K})) q^n.$$

In this paper, based on the technique of MacMahon's partitions analysis, we prove this result in the next Section. And in Section 3, we give several applications of this result to many classical sequences such as Bell numbers, Fibonacci numbers, Lucas numbers and Pell numbers.

2. The Proof of Main Theorem

Before proving our main theorem, we briefly recall the technique of MacMahon's partitions analysis, which has been exploited further by G. Andrews, P. Paule, A. Riese and other authors [1, 2, 4, 5, 6, 7, 8, 9, 10].

Definition 2.1 *The Omega operator Ω_{\geq} is defined by*

$$\Omega_{\geq} \sum_{s_1 = -\infty}^{\infty} \dots \sum_{s_j = -\infty}^{\infty} T_{s_1, \dots, s_j} \lambda_1^{s_1} \dots \lambda_j^{s_j} := \sum_{s_1 = 0}^{\infty} \dots \sum_{s_j = 0}^{\infty} T_{s_1, \dots, s_j},$$

where the domain of the T_{s_1, \dots, s_j} is the field of rational functions over \mathbb{C} in several complex variables and the λ_i are restricted to annuli of the form $1 - \epsilon < |\lambda_i| < 1 + \epsilon$.

According to this definition, it is easy to show the following lemma which plays an important role in the paper.

Lemma 2.2

$$\Omega \frac{1}{(1-\lambda x)\left(1-\frac{x}{\lambda}\right)} = \frac{1}{(1-x)(1-xy)}.$$

Now we give the proof of our result.

Proof. By the definition of the Omega operator, applying Lemma 2.2 multiple times to λ_i for $i \geq 1$, we obtain that

$$\begin{aligned} \sum_{n=0}^{\infty} P(n; \mathcal{K})q^n &= \sum_{\substack{p_1 \geq p_2 \geq \dots \geq p_j \geq \dots \geq 0 \\ p_j \geq \sum_{i \geq j} K_{ij} p_{i+1}}} q^{p_1+p_2+p_3+\dots} \\ &= \Omega \sum_{p_1, p_2, p_3, \dots \geq 0} q^{\sum_{i \geq 1} p_i} \left(\prod_{i \geq 1} \lambda_i^{p_i - p_{i+1}} \right) \left(\prod_{j \geq 1} \mu_j^{p_j - \sum_{i \geq j} K_{ij} p_{i+1}} \right) \\ &= \Omega \frac{\prod_{i \geq 3} \left(1 - \frac{q \lambda_{i+1} \mu_{i+1}}{\lambda_i \mu_1^{K_{i1}} \mu_2^{K_{i2}} \dots \mu_i^{K_{ii}}} \right)^{-1}}{\left(1 - q \lambda_1 \mu_1 \right) \left(1 - \frac{q \lambda_2 \mu_2}{\lambda_1 \mu_1^{K_{11}}} \right) \left(1 - \frac{q \lambda_3 \mu_3}{\lambda_2 \mu_1^{K_{21}} \mu_2^{K_{22}}} \right)} \\ &= \Omega \frac{\prod_{i \geq 3} \left(1 - \frac{q \lambda_{i+1} \mu_{i+1}}{\lambda_i \mu_1^{K_{i1}} \mu_2^{K_{i2}} \dots \mu_i^{K_{ii}}} \right)^{-1}}{\left(1 - q \mu_1 \right) \left(1 - \frac{q^2 \lambda_2 \mu_2}{\mu_1^{K_{11}-1}} \right) \left(1 - \frac{q \lambda_3 \mu_3}{\lambda_2 \mu_1^{K_{21}} \mu_2^{K_{22}}} \right)} \\ &= \Omega \frac{\prod_{i \geq 3} \left(1 - \frac{q \lambda_{i+1} \mu_{i+1}}{\lambda_i \mu_1^{K_{i1}} \mu_2^{K_{i2}} \dots \mu_i^{K_{ii}}} \right)^{-1}}{\left(1 - q \mu_1 \right) \left(1 - \frac{q^2 \mu_2}{\mu_1^{K_{11}-1}} \right) \left(1 - \frac{q^3 \lambda_3 \mu_3}{\mu_1^{K_{11}+K_{21}-1} \mu_2^{K_{22}-1}} \right)} \end{aligned}$$

Continuing to apply Lemma 2.2 to annihilate all parameters λ_i , we have

$$\sum_{n \geq 0} P(n; \mathcal{K})q^n = \Omega \frac{\left(\frac{1}{1-q\mu_1} \right) \left(\frac{1}{1 - \frac{q^2 \mu_2}{\mu_1^{K_{11}-1}}} \right)}{\prod_{j \geq 2} \left(1 - \frac{q^{j+1} \mu_{j+1}}{\prod_{i=1}^j \mu_i^{-1 + \sum_{k \geq i} K_{ki}}} \right)} \quad (2.1)$$

Now expanding (2.1) in terms of geometric series and utilizing the Omega operator to eliminate μ_i for $i \geq 1$, we attain,

$$\begin{aligned}
\sum_{n \geq 0} P(n; \mathcal{K}) q^n &= \Omega \sum_{t_1 \geq 0} (q \mu_1)^{t_1} \sum_{t_2 \geq 0} (q^2 \mu_1^{-K_{11}+1} \mu_2)^{t_2} \\
&\quad \cdot \prod_{j \geq 2} \sum_{t_{j+1} \geq 0} \left(q^{j+1} \mu_{j+1} \prod_{i=1}^j \mu_i^{1-\sum_{k \geq i} K_{ki}} \right)^{t_{j+1}} \\
&= \Omega \sum_{t_1, t_2, t_3, \dots \geq 0} q^{t_1+2t_2+3t_3+\dots} \prod_{j \geq 1} \mu_j^{t_j + \sum_{i \geq j} (1 - \sum_{k \geq j} K_{kj}) t_{i+1}} \\
&= \Omega \sum_{t_2, t_3, \dots \geq 0} q^{2t_2+3t_3+\dots} \prod_{j \geq 2} \mu_j^{t_j + \sum_{i \geq j} (1 - \sum_{k \geq j} K_{kj}) t_{i+1}} \\
&\quad \cdot \sum_{t_1 \geq 0} q^{t_1} \mu_1^{t_1 + \sum_{i \geq 1} (1 - \sum_{k \geq 1} K_{k1}) t_{i+1}} \\
&= \Omega \sum_{t_2, t_3, \dots \geq 0} q^{2t_2+3t_3+\dots} \prod_{j \geq 2} \mu_j^{t_j + \sum_{i \geq j} (1 - \sum_{k \geq j} K_{kj}) t_{i+1}} \\
&\quad \cdot \sum_{\substack{t_1 \geq 0 \\ t_1 \geq \sum_{i \geq 1} (-1 + \sum_{k \geq 1} K_{k1}) t_{i+1}}} q^{t_1} \\
&= \Omega \sum_{t_2, t_3, \dots \geq 0} q^{2t_2+3t_3+\dots} \prod_{j \geq 2} \mu_j^{t_j + \sum_{i \geq j} (1 - \sum_{k \geq j} K_{kj}) t_{i+1}} \\
&\quad \cdot \frac{q^{\sum_{i \geq 1} (-1 + \sum_{k \geq 1} K_{k1}) t_{i+1}}}{1 - q} \\
&= \frac{1}{(1 - q)(1 - q^{1+K_{11}})(1 - q^{1+K_{21}+(1+K_{11})K_{22}}) \dots} \\
&= \prod_{m \geq 1} \frac{1}{1 - q^{V_m(\mathcal{K})}} = \sum_{n \geq 0} P(n; V(\mathcal{K})) q^n,
\end{aligned}$$

where $V_{m+1}(\mathcal{K}) = \sum_{j=0}^m K_{mj} V_j(\mathcal{K})$ with $V_0(\mathcal{K}) = 1$.

Now we take the step of eliminating μ_{m+1} into detailed consideration,

$$\begin{aligned}
\Omega \sum_{t_{m+1} \geq 0} q^{(m+1)t_{m+1}} \prod_{j \geq 1}^m q^{V_j(\mathcal{K})(-1 + \sum_{k \geq j}^m K_{kj})t_{m+1}} \\
\cdot \mu_{m+1}^{t_{m+1} + \sum_{i \geq m+1} (1 - \sum_{k \geq m+1}^i K_{k(m+1)})t_{i+1}} \\
= \Omega \sum_{t_{m+1} \geq 0} q^{\left((m+1) + \sum_{j \geq 1}^m V_j(\mathcal{K})(-1 + \sum_{k \geq j}^m K_{kj}) \right) t_{m+1}} \\
\cdot \mu_{m+1}^{t_{m+1} + \sum_{i \geq m+1} (1 - \sum_{k \geq m+1}^i K_{k(m+1)})t_{i+1}} \\
= \frac{q^{\left((m+1) + \sum_{j \geq 1}^m V_j(\mathcal{K})(-1 + \sum_{k \geq j}^m K_{kj}) \right) \left(\sum_{i \geq m+1} (-1 + \sum_{k \geq m+1}^i K_{k(m+1)})t_{i+1} \right)}}{1 - q^{\left((m+1) + \sum_{j \geq 1}^m V_j(\mathcal{K})(-1 + \sum_{k \geq j}^m K_{kj}) \right)}}.
\end{aligned}$$

Then

$$\begin{aligned}
V_{m+1}(\mathcal{K}) &= (m+1) + \sum_{j \geq 1}^m V_j(\mathcal{K})(-1 + \sum_{k \geq j}^m K_{kj}) \\
&= 1 + \left(m + \sum_{j \geq 1}^{m-1} V_j(\mathcal{K})(-1 + \sum_{k \geq j}^{m-1} K_{kj}) \right) \\
&\quad + \sum_{j=1}^{m-1} V_j(\mathcal{K})K_{mj} + (K_{mm} - 1)V_m(\mathcal{K}) \\
&= 1 + V_m(\mathcal{K}) + \sum_{j=1}^{m-1} V_j(\mathcal{K})K_{mj} + (K_{mm} - 1)V_m(\mathcal{K}) \\
&= \sum_{j=0}^m K_{mj}V_j(\mathcal{K})
\end{aligned}$$

Hence the result holds. \square

3. Applications

In this section, we give several applications of our main theorem to many classical sequences such as Bell numbers, Fibonacci numbers, Lucas numbers and Pell numbers.

First, define an infinite lower triangular matrix $\mathcal{K} = (K_{ij})$ with $K_{11} \geq 1$

and

$$K_{ij} = \begin{cases} 1 & \text{if } j = 0, \text{ or } i = j \geq 2, \\ K_{i1} & \text{if } j = 1 \text{ and } i \geq 1, \\ 0 & \text{otherwise,} \end{cases} \quad (3.1)$$

Using the recurrence relation

$$V_{m+1}(\mathcal{K}) = \sum_{j=0}^m K_{mj} V_j(\mathcal{K}), \quad V_0(\mathcal{K}) = 1, \quad (3.2)$$

we get

$$V_{m+1}(\mathcal{K}) = m + \delta_{0m} + \sum_{i=1}^m K_{i1}, \quad (m \geq 0),$$

where δ_{0m} is the Kronecker symbol, which is Sellers' result. Clearly, in addition, setting $K_{11} = 2, K_{i1} = 1$ for $i \geq 2$ in (3.1), we obtain Santos' result. Other special cases have been given in [15], including an interesting case related to graphic forest partitions [12], at this point.

Next, we list nine interesting corollaries of Theorem 1.3 in the following table according to different \mathcal{K} .

$\mathcal{K} = (K_{ij})$	$V_m(\mathcal{K}) (m \geq 1)$
$\binom{i}{j}$	B_m
$\begin{cases} 1 & \text{if } j = 0, \\ u - 1 & \text{if } i \geq j \geq 1, \\ 0 & \text{otherwise.} \end{cases}$	u^{m-1}
$\begin{cases} 1 & \text{if } j = 0, \\ j & \text{if } i \geq j \geq 1, \\ 0 & \text{otherwise.} \end{cases}$	$m!$
$\begin{cases} 2 & \text{if } i = j \geq 1, \\ 0 & \text{if } i < j, \\ 1 & \text{otherwise.} \end{cases}$	F_{2m-1}
$\begin{cases} 2 & \text{if } i = j \geq 2, \\ 0 & \text{if } i < j, \text{ or } i \geq 2 \\ & \text{and } j = 1, \\ 1 & \text{otherwise.} \end{cases}$	F_{2m-2}
$\begin{cases} 1 & \text{if } j = 0, \text{ or } i - j \equiv 0 \\ & \pmod{2} \text{ and } i \geq j, \\ 0 & \text{otherwise.} \end{cases}$	F_m
$\begin{cases} 1 & \text{if } j = 0, \\ u - 1 & \text{if } 1 \leq j \leq k, \\ i - j + 1 & \text{if } i \geq j \geq k + 1, \\ 0 & \text{otherwise.} \end{cases}$	$\begin{cases} u^k F_{2m-2k-2} & \text{if } m \geq k + 1 \\ u^{m-1} & \text{if } 1 \leq m \leq k \end{cases}$
$\begin{cases} 1 & \text{if } j = 0, \text{ or } i = j, \\ 0 & \text{if } i < j, \\ 2 & \text{otherwise.} \end{cases}$	P_m
$\begin{cases} 1 & \text{if } j = 0, \text{ or } i - j \equiv 0 \\ & \pmod{2} \text{ and } i \geq j \geq 2, \\ 2 & \text{if } i - j \equiv 0 \pmod{2} \\ & \text{and } i \geq j = 1, \\ 0 & \text{otherwise.} \end{cases}$	L_m

where B_m is the m th Bell number defined by $B_{m+1} = \sum_{k=0}^m \binom{m}{k} B_k$ with $B_0 = 1$; F_m is the m th Fibonacci number defined by $F_{m+1} = F_m + F_{m-1}$ with $F_0 = F_1 = 1$; P_m is the m th Pell number defined by $P_{m+1} = 2P_m + P_{m-1}$ with $P_1 = 1, P_2 = 2$; L_m is the m th Lucas number defined by $L_{m+1} = L_m + L_{m-1}$ with $L_1 = 1, L_2 = 3$.

It seems that some entries of \mathcal{K} could be negative integers. For example,

define another infinite lower triangular matrix $K^\zeta = (K_{ij}^\zeta)$ with

$$K_{ij}^\zeta = \begin{cases} 1 & \text{if } j = 0, \\ 2 & \text{if } i = j \geq 1, \\ -1 & \text{if } i - j = 1, \\ 0 & \text{otherwise.} \end{cases}$$

By (3.2), we obtain $V_m(K^\zeta) = \binom{m+1}{2}$ for $m \geq 1$. For this case, Andrews [2] has proved the following:

Theorem 3.1 *Let $P(n; K^\zeta)$ be the number of partitions of n of the form $n = p_1 + p_2 + p_3 + p_4 + \dots$ such that $p_j - 2p_{j+1} + p_{j+2} \geq 0$ for $j \geq 1$. Then*

$$\sum_{n \geq 0} P(n; K^\zeta) q^n = \prod_{m \geq 1} \frac{1}{1 - q^{\binom{m+1}{2}}}.$$

Namely, $P(n; K^\zeta)$ also equals the number of partitions of n into triangular numbers.

Our goal in future work is to consider a general principle so that K can be extended to include negative integer entries.

References

- [1] G. Andrews, *MacMahon's Partition Analysis: I. The Lecture Hall Partition Theorem*, in *Mathematical Essays in Honor of Gian-Carlo Rota*, B.E. Sagan and R.P. Stanley, eds, pp. 1-22. Boston, Birkhuser, 1998.
- [2] G. Andrews, *MacMahon's Partition Analysis: II. Basic Theorems*, *Ann. Comb.* 4 (2000), 327-338.
- [3] G. E. Andrews, *The Theory of Partitions*, Cambridge Univ. Press, (1984) 64-65.
- [4] G. Andrews, P. Paule and A. Riese, *MacMahon's Partition Analysis: The Omega Package*, *Europ J. Combinatorics* 22, No. 7 (2001), 887-904.
- [5] G. Andrews and P. Paule, *MacMahon's Partition Analysis IV: Hypergeometric Multisums*, Paper B42i, Issue 42, Séminaire Lotharingien de Combinatoire (Electronic Journal).
- [6] G. Andrews, P. Paule, A. Riese and V. Strehl, *MacMahon's Partition Analysis V: Bijections, Recursions and Magic Squares*, *Algebraic Combinatorics and Applications*, Proceedings of Euroconference Alcoma99, September 12-19, 1999, Goessweistein, Germany, A. Betten, A. Kohnert, R. Laue and A. Wassermann, eds., pp. 1-39. Berlin, Springer, 2001.
- [7] G. Andrews, P. Paule and A. Riese, *MacMahon's Partition Analysis VI: A New Reduction Algorithm*, *Ann. Comb.* 5, No. 3-4 (2001), 251-270.

- [8] G. Andrews, P. Paule and A. Riese, *MacMahon's Partition Analysis VII: Constrained Compositions*, AMS Contemporary Mathematics 291 (2001), 11-27.
- [9] G. Andrews, P. Paule and A. Riese, *MacMahon's partition analysis VIII: Plane Partition Diamonds*, Adv. Appl. Math. 27 (2001), 231-242.
- [10] G. Andrews, P. Paule and A. Riese, *MacMahon's Partition Analysis IX: k-gon Partitions*, Bull. Austral. Math. Soc. 64 (2001), 321-329.
- [11] K. J. Chen, *A refinement of a partition theorem of Sellers*, Integer: Electron. J. Combin. Number Theory 4 (2004), A15, 7pp.
- [12] D. Frank, C. Savage and J. Sellers, *On the Number of Graphical Forest Partitions*, Ars Comb. 65 (2002), 33-37.
- [13] P. MacMahon, *Combinatory Analysis*, 2 Volumes, Cambridge University Press, Cambridge, 1915-1916 (Reprinted: Chelsea, New York, 1960).
- [14] J. P. De O. Santos, *On a New Combinatorial Interpretation for a Theorem of Euler*, Adv. Stud. Contemp. Math. (Pusan) 3, No. 2 (2001), 31-38.
- [15] J. Sellers, *Extending a Result of Santos on Partitions into Odd Parts*, Integer: Electron. J. Combin. Number Theory 3 (2003), A04, 5pp.
- [16] J. A. Sellers, *Corrigendum to Article A4, Volume 3 (2003)*, INTEGERS 4 (2004), #A08